No.11 (2004.12.15)

(€H) Terzaghi
0 ov
_6‘:— V:_ka_h(:La_u)
ot oz oz yy 0z
% __k 2%
______ ot ywarr |
o€ oo’
de=m,-do’ —=m, —
e=m,-do - v
* oo 00
ot ot ot
oo’ _a_u
_____ o0 et
[ —cl)
_____ ot ot
. ou_ o%u c k )
erza —=Cy—5 =
zagnt ot Y 022 ! My 7w
. oo(z,t)
0z ¢
t Terzaghi
Ooloz=0 oolot 0 z
@)
-1
Terzaghi
0o 0o’ ou oo’ ou oh .
= + 0 == Tw

2 a a o a a

v=Kk-i




k oo’ '
v=—°2 de=m,-do’ 2 % m,2e
yw Oz oz oz
ok o o _ov
myyw 0Z ot oz
g ov 0 k oe k
== —) z =Cy
ot o0z oz myy, Oz my 7w
% _ %
ot V@zz
-2
o'(z,1) +u(z,t) = P(t) P(t)=0
o0’ u_ep() o0 _00' ou_
ot ot ot oz o0 oz
0%0'  o%u
7 —2t 270
0z oz
oz _ 0% oz ao’
ot 572 oz Voo
o0’ _ oo
ot g2

au_oP(r) _ %
ot ot Y g2

u(z,t)=P(t)+V(z,1)

otu_ o u_ Py v
oz? oz ot ot ot
N _ o
ot gz2



(3) Terzaghi

ou 0°u ou

u s s T A 3 T

0z oz 2 ot

au  8%u  au

u s T s T A 3 T

0z oz 2 ot
Terzaghi o c 82“
zaghi —=Cy ——=
) ot o2

u(z,t)=2(z)-T(t)

Z(2)-T'(t)=c,-2"(2)-T(1)

1T _2'() _ Y
o Tz 6 A/

t,z

T'(t) =—A%c,T(t)

Z"(2) =-A%Z(z)

T(t)=C; exp(—Azcv -1)

Z(z) =C,cos Az +Cgzsin Az

u

u(z,t) =(C,4 cos Az + Cgsin Az) -exp(—Ach 1)

H
u(0,t)=u(H,t)=0

u(O,t):C4-exp(—A20V-t):0 Cs=0
u(H,t) =Cgsin AH -exp(—Ach-t):O sinAH =0

AH=nz, A="%Z
H



n2z?

2 Cv't)

u(z,t)=C sinL—” zexp(—

n2z?

2 CV't)

e e}
u(z,t) = > By, sin% 7 exp(—
n=1 H

u(z,0) =Py

o0
u(z,0) = > B, sinr:_l—ﬂz =P

n=1

sin n Z 0 H
e z
H

f{( 3B, sm—z)ssz}dz - j(PO ssz)dz

0 n= 1 *
* 1 ] ) 1
’ jsmm;zxsmnﬂxdx=55mn
0
H . Nrx . Nrx H . Nrx
[ (B sin—z-sin——z)dz = [ (Pysin—z)dz 1(m=n )
0 H H 0 H é‘mn —
0 (m=n )
H H . nr
B, -—= [ (Pysin—2z)dz
n 2 (I)( 0 H )
2 H 2p[ H _ nm]"
By == [ (Pysin"Z z)dz = 0{——cos—}
_ 2R 2P,
D {( D" - =" HE)" g
H
2 2
u(z,t)= Y. s 2R —{(- 1)n+1 1}3|n—exp(—n d cy -t)
n 1 nz H H 2

00 2 2
4P, sin (2m +1) 7z exp(—(zm +12) T )
o (2m+1)x H H



4

Terzaghi

( H )

u(z,t) =(Cycos Az +C, sin Az) - exp(—Ach -1)

u(oit)zmzo
u(0,t) =C; -exp(—Ach 1)=0 C,=0
w = AC, cos AH -exp(—Azc\, -1)=0 cosAH =0
z
AH:Z”_lﬁ, A (@n-Dr
2 2H
B 2.2
u(z,t) = Csin CN=DZ o ZN=D777 0
2H 4H?
oo _ 2 2 B,
U(Z,t) = z Bn Sianexp(_va t)
n=1 2H 4H
— m 2n-1
u(z,0) =P, u(z,0)= ¥ B, sin2N=V7 , _ P
n=1 2H
Sian 0 H
2H :
H © _ _ H _
1138, sin U7 1y6in =7 g 1 (mysin CN=D7 5,
0 n:_‘]_ 2H 2H O
Bn
H _ H _
| By s,inz—(2n Lz dz= | By sin—(2n Lz zdz
0 2H 0 2H u=po
H _
Bn_E_:j(Posin(zn nznm: 2HP, B - 4P,
2 5 2H @n-Yz @2n-Drx
H
© 4Py . (2n-1)m (2n-1)° 72
u(z,t) = sin exp(————=—c, -t
21 n§1(2n—1)7z 2H a 4H2 )
0 2 2
4P, Sin(2n + 1)z exp(— @2n+D)°7x ¢ 1)

= X 2n+n 2H AH2




o0 . 0
=3 zﬁsinmexp(—MZC"—zt)z > 2&sin MZ exp(-M °T,)
n=0 M H H n=0 M
_(@n+1) T, =—4
2 H

cy -t z

M y
H

2H

u(0,t)=u(2H,t)=0

u(0,t) :C1-exp(—A2cV 1)=0 C,=0

U(2H,t) = C, sin2AH -exp(—-AZc, -t) =0 sin2AH =0

2AH =nz, A=1Z
2H

n2r?

H2

® . nhx
u(z,t) = > B, sin—- zexp(— Cy, -t
(z,t)= X By o p( vt

n=1

u(z,0) =Py u(z,0) = Zan sing—gz =R
n=

sin nz z 0 2H
— z
2H -

2H
. T . N«w . N«m
B, sin—-z)sin— z}dz = Py sin—-z)dz
é{(nan 2H) 2H} (J,(O 2H)

2H 2H
[ By sin? 2% 7z = ) Posinn—”zdz
0 2H 0 2H

2HP, 2P
U O By = —2{(-)""1+13
nx 1¥/4

2H

By-H=

2 _2

® T

uz ) = 3 2P0y 4 gysin 7 exp(- "
nz 2H 4

cy-t)

n=1 2™

% 2 2
_ 3 4P Sin(2m + )7z eXp(_(2m+1) T
m—0(2m +1)7 2H 4H?2

cy -t)

_ (2n+1)7[

M —
2 H 2 H

_ 3 2Pz exp(-M 2T,)
n=0 M

H



©)

Terzaghi
H
Po
WL
0 OO
H
e
ou o%u
_=CV_
ot oz2
2 2
u(0,t)=0
ou(z,t) 0
oz z=H -
v=0
v=Kki=- a—h——La—u—O
S oo Yw OZ -
Terzaghi
Po

u(z,0) = pg




o ey

—=C,—— u(0,t)=0 =0
ot oz 09 07 |,_ny
u(z,0) = pg
u(z,t) = izﬁsin MZ exp(-M °T,) m=n+D T, =% ‘Zt 7L
o M 2 H H
2H
u/ po Z=z/H T,

Z=z/H

Isochrones:

D lllllllll




